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Some  data (you may not need all of this): 

Henry's law for CO2. pco2 = H xco2 where H= 1000 bar at 10C and H=5000 bar at 100C. 

Vapor pressure for  water: psat=0.012 bar at 10C and psat=1 bar at 100C. 

Heat of vaporization for water at 100C: 40.7 kJ/mol 

Heat capacity for water: 4.18 kJ/kg,K (liquid) and 1.87 kJ/kg,K (gas). 

Heat capacity for CO2: 37 J/K,mol (gas) 

Molecular weights [g/mol]: 44 for CO2 and 18 for water 

Density water: 1000 kg/m3 

R = 8.31 J/K,mol 

Assuming straight equilibrium and operating lines:  

nA [mol/s] = Ky a S z (y‐y*)LM, where (y‐y*)LM = [(y‐y*)1‐(y‐y*)2]/ln[(y‐y*)1/(y‐y*)2] 

 

Problem	2:	ABSORPTION	AND	STRIPPING.	 32%	weight	
 

We consider CO2 removal from a 170 MW gas fired power plant where the flue gas (10 kmol/s) 

contains 4 mol% CO2  (the rest is non‐condensable components,  like N2 and O2). It is required to 

remove 90% of the incoming CO2. We consider a process using pure water as the absorbent, that is, 

without amine addition. We know that this process is not very realistic, and we want to understand 

why. In this problem you shall consider the absorber and the partial condenser for the stripper 

column. 

Data are given above and in the figure (all fractions are on mole basis). 

Specify any other assumptions you make when solving the problem. 

(a) Absorption column. 

(i) Find the amount of flue gas (stream 1) in m3/s. What is the required tower diameter if 

the gas velocity (empty tower) should be 1 m/s? 

(ii) Find the required water flow L (in stream 3 and 4). You can neglect evaporation of water 

in the absorber. Give your answer for L in mol/s, kg/s and m3/s. What it is heat duty (Q in 

MW) for the cross heat exchanger? Comment on whether you find the result reasonable 

for actual implementation. 

(iii)  Use a graphical solution (McCabe‐Thiele) to find the required number of theoretical 

stages in the absorber.  

(iv) We consider using a packed column. What is the required packing height given that Kya = 

0.066 kmol/s,m3 ? 

(v) What it is minimum amount of water (Lmin) with an infinite number of stages (or infinite 

packing height)?  

 

(b) Reflux flash drum. Find the flows and compositions of streams 6, 7 and 8. What is the cooling 

duty of the condenser (in MW)? You can assume that the partial pressure of water in stream 6 is 

1 bar. 
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